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Q.1 A) Read and expand the number .                                                                                                    (5) 

1) 4569              2)12348 

3)22986             4)508320 

5)609122 

B) Express the number in indian and international systeam                                                              (6) 

1) 416753               2) 23143 

3)295483 

C) Express each of the following numbers as the sum of three odd numbers.                              (4) 

1) 21                             2) 31   

3) 53                             4) 61 

D) Find the  H.C.F. Of the following number.                                                                                        (6)       

1) 18 , 48                            2) 30 , 42  

3) 12 , 45 , 75  

Q.2 A) Estimate the folowing products using genral rules.                                                                 (4) 

1) 578 × 161                        2) 5281 × 3491 

B)  Using divisibility test , determine which of the following numbers are divisible by 4.             (6) 

1) 572                            2)1700 

3)6000 

c) Write the prime fraction.                                                                                                                      (4) 

1)     16  ,  28                                      2)    8  , 12  

D) Write factors of folowing.                                                                                                                     (6)  

1)     24                       2)   15 

3)     12 

Q.3 A Classify the following curves as open or close.                                                                           (3) 

1                                       2)                            3)   

      z 
 



 

B) Draw the angle.                                                                                                                                    (5) 

1)   45                                  2)    125                              3)  90 

4)  75                                   5)     85 

C) True or false.                                                                                                                                         (5) 

1) The successor of 100 is 101 

2)All natural numbers also whole no.  

3)121 ,  1489 , 121 is greater no. 

4)   is open curve. 

5) 1208 × 2 = 2416 

D) Find the solution on number line.                                                                                                    (4) 

1) 6+2                            2) 3+3+3 

3)9-4                               4)3×2×3 

E. Write the successor and producessor                                                                                               (3) 

1)1200                     2) 3280                      3) 999     

Q.4 A) Draw the following shapes   (4)
 

          1)  Cone 

          2)  Sphere 

          3)  cyclinder 

          4) Pyramid 

B) Write the no. In roman numbers.                                                                                                       (5) 

1) 6                           2) 9                3) 100 

4) 70                         5) 50 

C)  Find.                                                                                                                                                         (4) 

1) 7+18+13  ;  16+12+4                2) 25×8358×4 

D) 1) TO switch a shirt 2 m 15cm cloth is needed out of 40 m cloth. How many shirts can be stitched and how 

much cloth will remain ? 

2)Try to from polygoan with    1) 4 mathsticks       2) 5 Mathsticks  

3)                                                    From the figure a) The center of circle b) a chord 

 

 


